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(JavaScript, Node.js #55)

const readline = require("readline");

const rl = readline.createInterface(
process.stdin, process.stdout
)3
let student_num = 10;
let grades = new Array(student_num); // KW T C/C++ FEHANBEEN, =7
- BRE 0Mm)

function input(remain_times) {
if (remain_times <= 0) {

rl.close();

return;
}
rl.question("", (answer) => {
grades [student_num - remain_times] = parseFloat(answer); // & & T
~ FRIAHER
input (remain_times - 1);
s

}
rl.on("close", () => {
let sum = grades.reduce((sum, current) => {
return sum + current;
Y, 05 // HEZRE 0(n)
let average = sum / student_num;
console.log(" SR ", average);
B
rl.write(" # A\ "+student num+" ZFHEMKSE, ——1T: \n");

input (student_num) ;
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30 // 10
w // FHAH: 5.5
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(JavaScript, Node.js #1%) 2

1 const readline = require("readline");

3 const rl = readline.createInterface(

4 process.stdin, process.stdout

50);

6 let student_num = 10;

7 let grades = new Array(student_num); // KOULT C/C++ FEIHANABAELEN, = |7
o BEE 0(n)

o function input(remain_times) {

10 if (remain_times <= 0) {

11 rl.close();

12 return;

13 }

14 rl.question("", (answer) => {

15 grades [student_num - remain_times] = parseFloat(answer); // & T
o FRIAHIR

16 input (remain_times - 1);

17 B

18}

19 rl.on("close", () => {

20 let sum = grades.reduce((sum, current) => {

21 return sum + current;

22 Y, 0; // BEEZEE 0(n)

23 let average = sum / student_num;

24 console.log(" & T FH 4 HIF £ % #: ", grades.filter((grade) => grade

< > average)); // B[F|ZZE 0(n)
1)
26 rl.write(" ¥ A\ "+student num+" & F AW KL, —A—4T: \n");
27 input(student_num) ;

28
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// 6
a
// 8
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// 10
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